






ˉ   ʅʘʠʤʝʥʦʚʘʥʠʝ  ʂʦʣ-ʚʦ  

1 ʐʘʡʙʘ ʨʝʤʲʯʥʘ ʘʣʫʤʠʥʠʝʚʘ ʝʜʥʦʢʘʥʘʣʥʘ  1 

2 ʇʲʣʟʝʮ  1 

3 ʇʨʝʜʧʘʟʝʥ ʢʣʘʥʠʢ-ʣʷʚ  1 

4 

ʂʨʝʧʝʞʥʠ ʝʣʝʤʝʥʪʠ ʨʘʙʦʪʥʠ ʦʨʛʘʥʠ (ɹʦʣʪ ʄ8ʭ55-4ʙʨ., ɹʦʣʪ ʄ8ʭ45-2ʙʨ.ɻʘʡʢʘ ʄ8-
4ʙʨ., ʇʣʦʩʢʘ ʰʘʡʙʘ ø8-8ʙʨ., ʌʝʜʝʨ ʰʘʡʙʘ ø8-4ʙʨ.)   

22  
5 

6 

7 

8 ʇʨʝʜʧʘʟʝʥ ʚʦʜʘʯ ʨʘʙʦʪʥʠ ʦʨʛʘʥʠ  2 

9 ʄʦʪʠʯʢʘ ʣʷʚʘ/ʜʷʩʥʘ  12+12 

10 ɿʚʝʥʘ ʨʘʙʦʪʥʠ ʦʨʛʘʥʠ  3+3 

11 ʈʝʜʫʢʪʦʨ ʚʝʨʠʞʝʥ  1 

12 ʆʩ - ʟʲʙʥʦ ʢʦʣʝʣʦ ʨʝʜʫʢʪʦʨ  1 

13 ɺʦʜʝʱʦ ʢʦʣʝʣʦ  1 

14 ɺʠʣʢʘ ʚʦʜʝʱʦ ʢʦʣʝʣʦ  1 

15 ʆʧʪʷʞʥʘ ʨʦʣʢʘ ʩʪʘʥʮʠʷ ʧʨʝʜʝʥ ʭʦʜ  1 

16 ʈʝʤʲʢ ʪʨʘʧʝʮʦʚʠʜʝʥ 10ʭ1050 ʩʪʘʥʮʠʷ ʧʨʝʜʝʥ ʭʦʜ  1 

17 ʇʨʝʜʧʘʟʝʥ ʢʣʘʥʠʢ-ʜʝʩʝʥ  1 

18 ʈʘʤʘ  1 

19 
ʉʪʘʥʮʠʷ ʟʘʜʝʥ ʭʦʜ   1  

20 

21 ʈʝʤʲʢ ʪʨʘʧʝʮʦʚʠʜʝʥ 10ʭ1050 ʩʪʘʥʮʠʷ ʧʨʝʜʝʥ ʭʦʜ  1 

22 ʈʝʤʲʢ ʪʨʘʧʝʮʦʚʠʜʝʥ 10ʭ1220 ʩʪʘʥʮʠʷ ʟʘʜʝʥ ʭʦʜ  1 

23 ʐʘʡʙʘ ʨʝʤʲʯʥʘ ʘʣʫʤʠʥʠʝʚʘ ʜʚʫʢʘʥʘʣʥʘ  1 







ˉ   ʅʘʠʤʝʥʦʚʘʥʠʝ  ʂʦʣ-ʚʦ 
F60/F90  

ʂʦʣ-ʚʦ 
F90R  

1 ʈʘʤʦ ʢʦʨʤʠʣʦ 1 1 

2 ʂʦʨʤʠʣʦ 1 1 

3 ɹʦʣʪ ʩʧʝʮʠʘʣʝʥ ʢʲʩ 1 1 

4 ɹʦʣʪ ʩʧʝʮʠʘʣʝʥ ʜʲʣʲʛ 1 1 

5 ɹʨʦʥʷ ʩʲʝʜʠʥʠʪʝʣ 1 1 

6 ɻʘʡʢʘ ʩʧʝʮʠʘʣʥʘ 2 2 

7 ʅʘʢʨʘʡʥʠʢ ʙʨʦʥʷ ʩʲʝʜʠʥʠʪʝʣ 1 2 

8 ʐʘʧʢʘ ʞʠʣʦ 2 4 

9 ʈʲʢʦʭʚʘʪʢʘ ʩʲʝʜʠʥʠʪʝʣ 1 2 

10 ɼʨʲʞʢʘ ʛʫʤʝʥʘ 2 2 

11 ɹʦʣʪ ʄ6/40 1 1 

12 ʐʘʡʙʘ ʄ6 1 1 

13 ɻʘʡʢʘ ʢʘʣʧʘʢʯʘʪʘ ʄ6 1 1 

14 ʐʘʡʙʘ ʩʧʝʮʠʘʣʥʘ 1 1 

15 ʐʘʡʙʘ ʄ8 2 2 

16 ʄʘʰʠʥʢʘ ʛʘʟ 1 1 

17 ʅʘʢʨʘʡʥʠʢ ʙʨʦʥʷ ʛʘʟ 1 1 

18 ɾʠʣʦ ʛʘʟ 1 1 

19 ɹʨʦʥʷ ʛʘʟ 1 1 

20 ʇʨʫʞʠʥʘ ʢʦʥʫʩʥʘ ʛʦʣʷʤʘ 1 1 

21 ʅʠʪ 1 2 

22 ɾʠʣʦ ʩʲʝʜʠʥʠʪʝʣ ʧʨʝʜʝʥ ʭʦʜ 1 1 

23 ʇʨʫʞʠʥʘ ʢʦʥʫʩʥʘ ʤʘʣʢʘ 1 1 

24 ɾʠʣʦ ʟʘʜʝʥ ʭʦʜ 1 1 






